Tt % £ 2

m A B % B = B
(Ebﬁ)ao;f;;?fﬁ) ©5 H=1,200mm X L=2,000mm 1,675 #®
(ﬁl@a/;u{;%?#) ?®32mm (H=1.5m) 1,678 Z:N

SUSHERIR (RTUL A&t &) RATULRE 19 5,034 Z:N
FIBERaAIL 04.0 X #38mm (L=1.2m) 20 1&




T & F 2

m A& I B B Bof
BFEHE 943-6SSa 556 &
BFEHE 1342-6Ta 556 &
CEIH 40 x 25 x 1,800 5,563 V.

CRIERES4E 46 x31%1,200 X1 5,563 X
t&E8 XA 27,815 &
ARILE H/D M6 x 20 5,563 ¥
TG IWNToH— 3 X 40 X 40 X 500 556 &
fHsR A& 26mm GS-4 139 Kg
PRETh—EY 09 x 440 16,680 V.
& %P 5E H1.9XW1.0 32 =

B HMEE H1.9 X W1.5 1 H

& %P 5E H1.9 X W3.0 10 X

& %P5 H1.9 X W4.0 55 £




2 X A1)

<Aa—)LH>
BFEHE | HFER CEIZ# CRIERE A &8 RILL H/D | PUULNTUoh— | tHsaRAstE | PEFETFUL—EY | BHME S S M5 1wl S S M5
943-6SSa | 1342-6Ta | 40X25x 1,800 | 46x31%1,200 71 ZHHA M6 x 20 3X40%X40%500 | 26mm GS-4 09 X 440 H1.9XW1.0 | HI.9XW1.5 | H1.9XW3.0 | H1.9xW4.0
NI 56 56 561 561 2,805 561 56 14 1,680 5 6
HO#hx 260 260 2,601 2,601 13,005 2,601 260 65 7,800 19 4 22
At X 240 240 2,401 2,401 12,005 2,401 240 60 7,200 8 1 33
&Et 556 556 5,563 5,563 27,815 5,563 556 139 16,680 32 1 10 55
<sNFRIUHE>
LD LLLA(FE AV 1) ANRATHZHFEMI AvF) SUSHESRIR (RTULREH) BRI
NI 300 301 903
BfthE 1,150 1,151 3453 20
HE A X 225 226 678
&it 1,675 1,678 5,034 20




Tt & 2 UMIHR)

m A I #H = B {
BFEHE 943-6SSa 56 %
BFEH 1342-6Ta 56 %
CHRIX# 40 x 25 x 1,800 561 Y.

CRIEMEZ 4+ 46 x 31 % 1,200 %1 561 y:N

It&E XM 2,805 &

RILE H/D M6 X 20 561 ¥

T NToH— 3 x 40 x 40 x 500 56 PN
A E 26mm GS-4 14 Kg
PFETh—EY 09 X 440 1,680 PN

&5 5 B H1.9 x W1.0 5 H
MR H1.9 x W3.0 6 X

LD LLLA(EE S Ay F4EHR) @5 H=1,200mm X L=2,000mm 300 M
HANATZH(BIEMT AvF) ?32mm (H=1.5m) 301 X
SUSHERR#R (R TUL R ) ATFULREH19 903 ¥:N




t ¥ 8 2 (BfX)

m B RO% B = Bify
@éﬁbﬁfﬁ) @5 H=1,200mm X L=2,000mm 1,150 ®
(ﬁlﬁf'ﬁljfuzg:j%ii) ?@32mm (H=1.5m) 1,151 VN

SUSHERIR (RTUL R ) ATULRAE 19 3,453 PN
FiERAaAMIL 04.0 X #38mm (L=1.2m) 20 1@




T % & 2 (HO®MK)

m A I H = B
BFEHE 943-6SSa 260 %
BFEH 1342-6Ta 260 %
CEXZ# 40 x 25 % 1,800 2,601 YN

CRIEMEZ 4+ 46 x 31 % 1,200 %1 2,601 y:N
It&E8 XA 13,005 &
RILE H/D M6 X 20 2,601 PN
T NToH— 3 X 40 x 40 X 500 260 ¥
o 2.6mm GS-4 65 Kg
PFETh—EY 09 x 440 7,800 Y.
&5 5 B H1.9XW1.0 19 H

&5 5 B H1.9 X W3.0 4 H
% M5 H1.9 X W4.0 22 =




it % & 2 (HE®HH®ER)

m A B O® H = B L
BFEH 943-6SSa 240 &
BF i 1342-6Ta 240 =
CEIX#E 40 % 25 % 1,800 2,401 y: N
CRUIEMX 4 46 x31x1,200 711 2,401 PN
It&E8 XA 12,005 1
ARILE H/D M6 X 20 2,401 PN
TG IWToh— 3 X 40 X 40 X 500 240 y:N
R E 2.6mm GS-4 60 Kg
RARETUH—EY 09 x 440 7,200 x
&5 5 P 5E H1.9 X W1.0 8 =
& % M B H1.9 X W1.5 1 =
& 5 H1.9 X W4.0 33 oS
WD LLLA (TSR Ay 11 #k) @5 H=1,200mm X L=2,000mm 225 5
RANATHAE(BIEMTI AvF) 032mm (H=1.5m) 226 X
SUSHER#R (RTUL REH$E) ATULAE 19 678 X




